Equal 9 step grey scaling betweeb* gsn=—44.5 andL* ga\w=44.5, Yoref=3.6, normalisation whiteW

L*0anF—44.4,L*0270.0, L*0anF44.5, Yoan=3.0, Yoa=18.0, Yoauw=108.0,Coay=Yoaw: Yoan=36.0
L*taN==25.7,L*tay=3.7, L*tan~44.5, %tan=6.4, ¥aU=20.9, Y;an~=108.0,Gay=Yiaw: Ytan=16.9
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* =100 AL* min] / [AL* max], L* TusinDp1 = 40 / Iog(5) [log (Y/Yy) ] with Y, =18

g*%= 100, g’y= 100 9%=59, g%=5 g%= 97, g%5= 89
L*TuBanD1 intended output real output linearized output
n0.i L*0a L*Or YOa YOr ;L*a AlL*a L*r Yta (L*tr) 1124 *a Al*la
50T (D)9 445 10 1080 10 445 1.0 1080 1.0 44.5
: 10.7 8.7
8 334 0875 69.0 0629 33.8 0.848 703  0.876 35.8
; 10.4 8.8
25T (7 223 075 441 0391 234 0.699 46.1  0.75 26.9
; 10.1 8.9
6 111 0625 282 024 133 0.556 30.7  0.623 18.0
1 9.6 8.9
o+@s5 00 05 180 0143 37 0.419 209  0.497 9.1
; 8.9 8.8
@+ -110 0375 115 0081 -51 0.293 146  0.372 0.4
; 8.0 8.5
_25*.3 222 025 73 0041 —13.169 0179 106  0.25 -8.1 o5
@2 333 0125 47 0016 -200 0.081 8.0 0.132 -16.4
! 5.7 9.3
‘1 -444 00 30 00: -257 00 6.4 0.0 -25.7
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*o = = ! normalisation: Yy =Yoayy0ait Yoref
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